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And he appeased him with money — 37112 7102

OVERVIEW!'

When s'12187 creditor came to take away the field from Nynw (who bought it from
121%7), NYNw convinced him to take money instead (from 1v»nw) and leave the field
by Nynw. MvoIN explains why it was necessary to state the case in this manner.
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He mentioned this detail that 1nw»w paid the creditor with money (instead of
allowing him to take the field) in order to teach an even greater novelty, that even
though 1vnw gave money to the creditor, nevertheless 1792w cannot argue and say

I gave the creditor the money which I owed your father, but rather nwnw is still
obligated to pay the heirs the money he owed to j2X".

SUMMARY
Nvnw certainly must pay if the creditor took the field (as payment), and he must
also pay, even if he paid off the creditor with money

THINKING IT OVER

There is a rule known as jn1 "7 x12vw:’ if A owes B, and B owes C, the rule is that
C can collect directly from A. Seemingly here too, nvaw owes 121X (for the field),
and 72%1 owes the creditor, therefore the creditor can collect from 7w»w and the
case is closed; no one owes anyone any money. Why does n1901n assume that if the
creditor took the field 11wnw still needs to pay the heirs?!*

' See ‘Overview to previous M2 7"7 'oMN.

? In the case where the creditor took the field on account of the lien he has on it, 'w»w cannot claim I paid your
father’s debt, because it was not 1Wwnw paying but rather the creditor is taking what is due to him on account of the
lien. [1Wnw cannot claim restitution on account of his nN1InR, since the heirs have no assets from their father.]
However since 1nwnw paid off the creditor with his money, it is like a stranger paying off someone’s debt where
(according to some opinions) the debtor owes the stranger the money. However in this case since the debtor (j21%7)
died and the r"v2 could not collect from the heirs (since there was no ‘real’ assets), therefore 1v»w loses because he
should not have paid him at all (with money, since there is no lien on the money).

? See later on this T1v.

* See wn "7 X,2% M21n3 1"7 and X"V there 827 X 7", See (also) PXMW 727 here "ox1 3"7 .
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